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MRTD LT 7 VIHEREREE

HiE 4 JFU-200S3
<ETEAEH RFH>

RbA “>< RbB
i>< D l WoEE W = 365 kg
N BB hG= 400 cm
! FH G RILRR/RY (J8iB) LA= 540cm
g A | E T (£34) LB= 81.0cm
W+FV RILEDDS LGA= 27.0cm
ELDFETOIER LGB= 26.9 cm
WHRV RILEH AR M10
LGA LGB NIV n= 4 7K
LA - LB -
BEERTRZESE., hEFRHBICHTIHERLZR
RETRIZEEE KS 1.0 15 2.0
Hhig (% 5k z 1.0 1.0 1.0
REtHEKEEE KH=KSxZ 1.0 15 2.0
RETRKEHE S FH=KHxWx9.8| 357.7 N 536.6 N 7154 N
REtHSEMERD FV=FH/2 1789 N 268.3 N 357.7 N
7oh—RILEBliR B RILE R/ 55D AI(RbA)
R FH xhG + (W x9.8+ FV)x(L-LG) 266.6 N 355.2 N 443.8 N
L x nt RILE R/ KID{I(RbB)
*L:LAXIZLB, LG:LGAE1=IZLGB. nt=n/2 267.5 N 3415 N 4156 N
Toh—mRILME ARG HE
=1 RIS 162.6 N/cm?| 243.9 N/cm?|  325.2 N/cm?
n-A A=055 cm?
B7oh—OEMHRSIRFEICHTIREE
HEMIEBIERTVH—RILM(ERLR)
WRTZ o 14.2 & 10.7 {& 8.6 %
EEAEFAEIRTrE: 3.8 kN
ERILFOEMRHEBREAWMIEHEICHTIREE
RJLE(SS400)
62.1 & 41.4 f& 31.1 1%
EEA R AW SE 101 kN/om®
AT L RRIVE(A2-50)
7 56.1 f& 374 f& 28.0 f&
SEEASE R AMIS B 9.12 kKN/cm?
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